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Instructions for the candidates :

1. SUema uENa 9 =l H 8 I J _
Candidates are required to give their answers in their own words as far as
practicable.

A AR g W A g 3F gl Al #vd &1
Figures in the right hand margin indicate full marks.

N

3 mw#mmmﬁﬁq 15 Rz w1 afifer awa R mar 1

15 minutes of extra time have been allotted for the candidates to read the questions
carefully.

4. 9 9IvA < @uel 7 & — SvE-I 0d gug-u|
This question paper is divided into two sections — Section-A and Section-B.
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are to be answered. First 50 answers will be evaluated by the computer in case

more than 50 questions are answered. Each question carmies 1 mark. Darken the

circle with blue / black ball Pen against the correct option on OMR Answer sheet

provided to you. Do not use whitener / liquid / blade / nail etc. on OMR-sheet,
otherwise the result will pe invalid.

0.

TS-T 4 27 7 I w7 & for @ foeh 15 ¥¥AT #T FA¢ 3 AfAard &
NF T & [0 2 3% Buifa &1 s sififr 3 Gv3 § 8 3Hd Ity wv R
T & fFd @ Rt 4 ¥ FT IAT 37 #1 G G & [0 s dF Pt &1

In Section-B, there are 27 short answer type questions, out of which any

IS questions are 1o be answered. Each question carries 2 marks. Apart from this,
there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries 5 marks.

|

T NI & ST SYFVT &7 AT qUiear afe &

Use of any electronic appliances is strictly prohibited.
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T - A / SECTION-A
zl'li"‘[l':"}mfiﬂ';fI'.’Jt:jcu:thre'l'ypl!Qmut.lonl
H¥ WEAT 18 60 A% & W¥T & wver www fwew Ry ww & frnd @ oo wat &1 B

S5yt & Fav a7 grT g7 77 Wet frweq W oM T v Rl w1

50x1=50

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any
S0 questions. You have to mark your selected option on the OMR-Sheet. 50 x 1 = 50

. G4rcm? &HARET alct ga &1 214 &

(A) 15 cm (B) 16 cm
(C) 20 cm (D) 17 cm
The diameter of a circle with area 64z cm? is
(A) 15 cm (B) 16 cm
(C) 20cm (D) 17 cm
2. P ADEFR awr APOR T fem & B /D= ,Q @ ¢R = o1 A Frfafaa d @
FI-31 H& & 2
Al LF =£P (B) LF = £Q
(C) LD =LP (D) LE=LP

In ADEF and APOR, it is given that Z/D = 2Q and ZR = ZE ; then which of the

following is truc ?

(A}  4F=4P (B] <ZF=£0Q
(C) £D=«P (D) ZE=/P
3. O G 2x+3y=5 TN 4vaby=15F ¢
(A) g g (B) 3 &
C) HIE FA H (D) ¥ | FHE TE

The pair of equations 2x+3y =S5 and 4x+6y =15 have

(A)  unique solution - (B} infinitely many solutions
(C)  no solution (D) none of these
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" 'ﬁ':f'-"'"?'rIl?lﬁnaﬂa(,sm-]]?fﬁmﬁt.ﬁ}mmmi
A B 2
(Cy 3 D) 4
THCF of 65 and 117 is in the form of 65 m - 117 then the value of m is
(A} B) 2
) 23 (D) 4
2,10 R 20 & Fosto T HoWo & 3T @
(A) 1 10 B) 10:1
<y 4 Dy 11:1
The ratio of the LCM and HCF of 2, 10 and 20 is
(Al 110 B) 10:1
€ 43 (D) 11:1

6 ﬁfﬁﬂswﬁﬁaﬁz,mbmmhﬁ,?ﬁmﬁmt

(A} Ibh B 2 +b2+h2
C)y  2bk (D) 2(lb+bh+lh)

If the length of a cuboid is I, width b and height h, then the volume of the
cuboid is

(A lbh (B) Ji’ + b2 4+ n?

(C)  2ib (D)  2(lb+bh+1h)

~i

wnlo®wunl5®tan75°an80° = ?

A V3 (B) 1
< =1 D) 1
3 fr=fetgs 8 9 &w=-9 fea g & 2

(A) 2y =3x=(x+1) B) x*-2/x+3=0

@ 3x2+2=(3-xP2+4 D) «?
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Which of the following is a quadratic cquation ?
A 2xP-3x=(xs+1)? B) x?-2/x+3=0

(C) 3x?+2=(3-x7+4 D x?-Lua
X

Y UF IEH AR T UF & WuR g &) oft I Hunrgt o wm o, @ =

T 1 A W
(A) 172 B 2:3
(C) 3:2 e 3:1

The bases of a cylinder and a cone are same. If their heights are also same, then

the ratio of their volumes will be

(A)  1:2 B) 2:3
€y 3:2 (D)  3:1
10. 38 W fag A fr fagat A(-1,0) 3R B(5,0) A FAF T WE, 8
(A (0,2) By (2,0)
€ (3,0) (D) (0,3)
The point-on x-axis which is cquidistant from points A(-1,0) and B(5,0) is
A (0,2) B) (2,0)
(C) (3.0) (D) (0,3)
1. -10,-6,-2,2, ..., 34 7 W & HGATE
(A) 15 _IB) 12 ;
(C) 13 (D) 14
The number of terms in -10,-6,-2,2, ..., 34 1s
(A) © 15 B 12
(C) 13 (D) 14
12. fag (_5,_5]$rrf’:mm$%
18y 6 B) -5
(C) -6 (D} S
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The x-coordinate of the point (6, = 5 is

(A) 6 B) -5
€ -6 D) 5
13, o 9 x(2x - 5)- 3 & v @A R
2 5
(A) 5 B -3
-3 S
Q) > @ 3
The sum of the zeros of the quadratic polynomial x(2x -5)-3 is
2
w2 ® -3
3
© -3 o 3

14, 1+2+3+. +naUaE e

1 1 2
nin+1) ' -1
(€) 3 p Lt

2
1+2+3+..+nisequal to

nin+1)(n+2)

n+l
(A) . 5 (B) 5
7 n(n+1) n{n-1)
2 2 D) ———
15.  Fefeifaa § § $7 g § 2
3 1
(A)  x°-5x+4Jx+3 (B) x2-x+x2+1
€ Jx +71=- D) 2x%-3/3x+J6
X
Which of the following is a plynomial ?
3 1
(A)  x%2-5x+4Jx+3 B) x2-x+x2+1
©) JE+71: | D)  V2x%-3{3x+V6
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16, 12m $ @Y & T W 03 W@ o F) o 4y3 m ¥ gd I A

600 (B) 45°

(€) 30° (D) 90°

The length of the shadow of a 12 m high pillar falling on land is 4y3 m. The
angle of clevation of the sun is

(A)  60° (B) 45°

(Cy 30° ' (D)  90°

17.  AABC W& wa st & fad 2c=90° & Al cos(A+B) I aH &

oo | B) 1

ia

(©) ,

1
3 (D)

AABC is a right angled triangle in which ZC = 90°. The value of cos(A + B) is

(A) 0 B) 1
. 1 J3
© 3 o 5
18. g3l (2,3)W@ (-2, 3)F AR QA&
A 3 By 4
€ 5 D). 6
Distance between the points (2,3 )and (-2,3) is
(A) 3 B) 4
€ S (D) 6

19. U 9o Y1 UF & HUR F B 3 4 F FI F § T IR FARA 2:3 %
U 1 &1 Ao & ST H I §
";a?\/:a:‘; ' ® 9:8
C 8:9 (D) 4:3



The radii of the bases of a cylinder and a cone are in the ratio 3 : 4. Il they haye

their heights in the ratio 2 J. the ratio of their volumes is

A 3.4 B) 9:8
(€C) 8:9 (D) 4:3
0. 3R3 4.5, 17 1 x ® WG 6 R, @ x W A R
@& 1 (B) 2
<€ 3 D) 4
If the menn of 3, 4, 5, 17 and x 18 6, then the value of x is
A1 B) 2
€ 3 (D) 4
21 3.4,7,2,7,6,7, 9 % Tgeww &
(A) 2 (B)
K 7 . (D}
Modeof 3,4,7,2, 7, 6, 7,9is
A 2 B 3
< 7 D 9
22, 1330 19 & 99 YL qny ¢ http://www .bsebstudy.com
(A) 13 J4B) 16
(C) 19 D)y 12
Airthmetic Mcan between 13 and 19 is
A) 13 (B) 16
(C) 19 D) 12

23. 3R U O 2 - px+4=0 F GA R A Al p=?

(A) 13 By 4
C) - +5 (D) t2
If the roots of a quadratic equation x2 - px+4 =0 are equal then p =P
(A) +3 B) 4
(C) S D) 2
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A} a m »
(€ ab o ¢
Il @ and b are prime numbers then LCM of a and b ia
Al a B b
(Cy ab (D) %
3. h’ﬂ[_ﬁ_y}‘ﬁ'{ﬂ‘iﬂfuﬁat
A yat-y? B x4 y?
€ xf-y? D) x%?

Distance of the point ( x, y ) from the origin is

A Yx?-y B 3+

© x?-y? . D) 3
26, Trafefaa d ] w7 s e k7
@ 15 - B 2
€) 12 D) 75
Which of the following is & prime number ?
(A) 15 | 23
(C) 12 (D) 75
27.  (1+1an0 +sec@)(1+ cot - cosecB)= ?
YR (B)
{cy 1 D) 2
28, af U A @) R 20 F WA 4x WX E T, A I QI 60
(A) I B 3
) @RI : (D) R
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If the circumference of a circle is increased from 2x to 44, its aren will be

(A) half (B)  two times
(€)  three times (D) four times
29, 1 R e g & Frms @ X )
W (1,0 B (0,0)
€ (-1,1) ,,(m vl A
W

hich of the following is the co-ordinate of the origin ?

Al (1) B) (0,0)

€ (-1, (D)  None of these
30 x=-S® W@ I WA @ g

(A) 3% F O (B)  y-38 & TR

© 7 g A st g (D) ¥ A FE T
What typc of straight line will the gruph of x = =S be ?

(A) parallel to x-axis (B) parallel to y-axis
(C)  passing through the origin (D)  none of these

31.  sin(90°-0)=

(A)  sin0 - (B) -sin0
CY" cosO (D) -cos0d
32.  frifefEd 3 @ & ool g )
Ay 2-J3 B 5
2/3
— D 6
o = D) V6
Which of the following is a rational number ?
Ay 2-J3 B 5
2J/3
C = D J6
(€ 3 (D)
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33

14

38

afz N‘c(l'--}-%'ﬂ. " cot) IO i‘

S 5
A ™53
12 3
US I o '3—
I wn-%. then cot is equal to
5
(A) 73 m i%-
12 13
( - f s
5 s

M43 AL 4 W7 g1 e 30 Goed oed gy & nafex & boos |

(Al (0.12) m (60)
(C) |06, -4) > 10.6)
The co-ordinates of the mad grunt of the e srpment josning the points AQ, 4)
and H(-) 8) i

N (0,12) m (6,0)

Q) (6.-4) ty  10,6)

forh y o o faxg % esd w7 1t i m ek } )

4

L

JA ] m 32
(& N iy ¢
How many tangents can be drawn from an external point on a circle ?
(A) ! B 2
< 3 D>y 4
Man6d”
con27*
VA -
< 2 > 3
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38.

39.

40.

(A) =3, 4 (B)

-43 '
() : (D)

The zeroes of the polynomial x? + %x -2 are

Ay 3,4 (B)

L

4
tcl = '3-1

oo

(D)

[ Ahof) 10,7, 4, ... %1 30 &} 9% aqrg7 ¥

]
N
Wi

:
2
4,

ol
Wl

nonc of these

(A)  -55 (B) -66
cy -77 D) 81
The 30th term of the AP, 10,7, 4, ...is cqual to -
(A) -85 (B) -66
< -77 (D) 81
afg lan0=-l-8§ 31. al cosecO &1 A §
17 8
«m 8 (B) 17
15 | 17
(C) 17 (D) 15
If tan0 = 1—8-5- then the value of cosecd js
17 | 8
(A) 3 (B) 17
15 17
(C) 17 (f?} 5
1 ¥ 100 7 {1 el & g &
(A) 4050 - (Bf 5050
(C) 6050 | (D) 7050
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The sum of all natural numbers from 1 to 100 is

(A] 4050 (B) 5050
(C) 6050 (D) 7050 ‘
a1, Wy, y ¥ HGE TH ax+ by+c =0 & et afirmm v v & 2
Ay 1 B 2
,LC} I (D) T ¥ H 7@

How many maximum solutions of the lincar cquation ax+by+c=0 are

possible in two variables x, y ?
Ay 1 (B) 2

(C)  Infinitely many (D) none of these

42, T OHVN 1, 4,7, 10, ... B HA-AT TG 88 € ?

s 26 . (B) 27

(€ 30 (D) 35

Which term of thc A.P. 1,4, 7, 10, ...1s 88 ?

(A) 26 (B) 27

(C) 30 (D) 35

43. fag(-3,-5)Fucdfeme ?

(A) W9 U] ' B) fidla o
se i TR (O I3 TR

In which quadrant does the point (- 3,-35) lic:?

(A) Ist quadrant (B) 2nd quadrant
(C)  3rd quadrant (D)  4th quadrant

44. 2cosZ 60° F HH g

(A) (B)

R L

l.
3
o 1 e

[110] G [5010-G un ' - Page130f24
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Value of 2¢coa? g in

]
@ k) i)

Sl

€ 1 D)

-

45, htaﬁﬂfﬂmf:umwmaumﬁmﬂhmsmr’l”m"”t?

(A) x2—3x+|0 (B) x2+3x-10
(€1 x?-3x-10 (D) i a #g T

In-the following which is the quadratic polynomial whose sum of zeros is 3 g,
product is - 10 ?

(A)  x?-3x+10 B) x%+3x-10

(C) x? - 3x - 10 (D) nonc of these

46. ﬁnﬁf@aﬁﬁm-ﬁtm,wmaﬁ‘maﬁﬁm#?

2 y _
(A) 3 _(P} 05
(€ 07 | (D) 15%
Which of the following numbers cannot be the probability of an event ?
2
& -05
(A) 3 (B) |
C) 07 ' (D)  15%

47. mﬁaﬁtmﬁmsﬂtéﬁmmmmmmm ?

@8 1 B 2
@ 4 . o IS

The HCF of the smallest composite number and smallest prime number is
A 1 (B) 2 |

c 4 (D)  none of these
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8. ek i @1 A, B A | em &, @) G 4 mm 2w g
AR @) arg &
100 ‘
(A) T cm (B) .?;q. cm
(C)  100x cm (D) 10000 cm
A wirc of 4 mm diameter is made by pulling a metallic cube whose side is 1 cm.
The length of the wire is .
100
(A)  —— cm : (B) % cm
(C) 100r cm (D) 10000 cm
49. 1+tan®0 =
Ay sec? 0 (B) cosec?0
(C) tan®0 (D) cot?0
s0. afc <t wWEw fnyE @ T g § 3 : 4 W YA &, A ITH GE w
3 &
A} 3:4 (B) 4:3
©% 9:16 (D) 16:9
If the corresponding sides of two similar triangles are in the ratio of 3 : 4, then
the ratio of their perimeters is
(A) 3:4 B) 4:3
(C) 9:16 (D) 16:9
51. U% GHAR A ABC &1 T P 12 cm g, d 3@ HIE N
(A) 642 cm © (B) 63 cm
(€ 3J6 cm (D) 6/6 cm
One of the sides of an cquilateral triangle ABCis 12 cm, then its height is
(A)  6y2 cm (B) 6V3 cm |
(€ 3J6 cm D) 66 cm
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52. ﬂf{ﬂm 31-9-5”6:-25:-& *ﬁimqﬁ'ﬁ

Al keg B) k#O
€ keyo D) ke-10
'Mthe cquutions 3% - w5 and 6x -2y = k have no solution, then
Al ke=o B) k=0
) k=10 (D) k=-10
5L R 100 g 8 T ™ 600 & TR wm @ 33A gl OF W A ) 4
g ¥
A 100m B 100¥2 m
o 200
() 7;- m Dy 200m

The length of the string of a kte fMang at a hewght of 100 m from the ground and
llﬂu't' of cln‘nhon 60" s

(A} 100 m B) 10042 m
2
(€) 'j.:'? m ™ 200m

54, ﬁamﬁmmwwwﬁ'ﬁdmm«mwtmmwﬂ.
M uedw wvit v el b

(A) 2Y3 em (B) -J-éi cm

(€) 3/3 em D 6cm

If two tangents inclined at an angle of 60° are drawn 1o 4 circle of radius 3 cm
then the length of cach tangent is

A 2/3 em ® l’,‘,& em

€ 33em M 6cm
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55. 52 ARl W OF TR W N0t aw Few, mﬂﬁummmﬁmmtl
W T i W I ¥ ) ofewen fee k2

L] 'L ’ '_].-

A 13 B o
! 3

(C) 53 D) 35

A card is drawn al random from of a well-shuffled deck of $S2 cards. What is the
probability of getting a king of black colour ?

W ® o

© o 3
56, Fretetgn 4 R} 83 coseco & TR k 7

w L

© I

Which of the following is equal to cosec® ?

coal .

A Sino B e
1

(C) =D DY m%cu

57 R 2min0 =1, M (3cot? 0« 3) ® WA ¥

a2 | 15
) 9 o 8
If 2%in0 = 1, then the value of 3cot? 0+ 3) will be
A 12 B 15
© 9 o 8
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58, Nm"mmmﬁ:mmk

a1
) 5 | 1
€ o !
(D) 3
The Probability of an impossible event is
|
w1 B) 1
{C) 0 1
(D) 3
3¢} -v,:.'rngj.r T r* "":)Tr 1.) - 7:.'.‘:‘}? “k: Iq' k )
(Al 32, V2 2.5
i 'B ""3&.
' 2
. ) ‘ I - w 5 # s |
@ e o FREE

Which of the following are zeroes of x* - 2e-12 7

Ay -342.42 B -343.-L

2

c =2 1 D  th
73.2 3 (L3} none of these

60. A W HAW TE) A g ¥

(A) W9 (B)  9TET
€ == D) ¥ # & A

-

The largest chord of a circle is
{A) arc (B) chord

(C) diameter (D) none of these
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WYY - ¥ / BECTION - B
Hﬁ!ﬂ'ﬂ'ﬂ W3 / 8hort Answer Type Questions
H¥T §BAT 1#27%‘?@3‘:‘1#7#1!31?#&?‘? 1877t & I §1 wdw wvr & Rrg

2 5% fFuifie 1 16x2=30 .
Question Nos. 1 to 27 are Short Answer Type, Answer any 15 questions. Each question
carries 2 marks. 15x2=30

| e Fo ) T R BT R ) R 8 e o A e ma w2

L

Three coins are tossed together. Find the probability of getting at least two
hcads.

2] fgurd e X2 -2x-8 F R AW I - 2
Find the zeroes of the quadratic polynomial x?-2x-8.
3~ @& U sin?5° +5in? 85° + 8in? 10° + 5in? 80° = 2. 2

Prove that sin? 5° +sin? 85° +8in? 10° + gin? 80° = 2.
4. TH gF AMBC F ¥ BC B p B W i wan & aun et AB AR Ac
. 9gM W WHE: oam;aqtmmtlfazafrﬁmhaw LiaaBCc W

ieam) | 2
A circle is'touching the side BC of AABC at P and touching AB and AC

produced at Q and R respectively. Pfovc that AQ = %{P_crimctcr of AABC).
5, ﬁﬁ%mﬂmmﬁﬁ&mﬁwzscmtl : 2

Find the area of a quadrant of a circle i if its perimeter is 25 cm. |
6. o ural H T g el AWK €, mﬁmmmaﬁﬁwﬁmmaﬁt 2-

Two dice are thrown togcther. Find the probability of getting even numbers on -
.both dice. '
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f“‘ﬁf*m‘.@)wmﬁﬂumh :

Prove that (34 5 } is an irrational number.

8 R T LR S S pe—— ) | . B
Using quadratic formula find the solution of the equation X -4x-1=0.

T T ol @ S w1y b v e aw wed. o w34 1 5
¥ I FIaT | 2
Determine the common difference of an A.P. whose 4th term is 11 and sum o
the 5th and 7th terms | 1s 34, http://www bsebstudy.com

10. T \ABC T AD, BeW i £ fag #% e (AB? + CD?) = (AC? + BD?). 2
Ina AABC, AD s perpendicular to BC. Prove that (AB? + CD?) = (AC? + BD?).

117 3R 71an0= 4 &1, a1 {75in0-3cos0) @ qH 7 S ' 2

i (7sin0 + 3cos0)

If 7tan0 = 4, then find (7sin0 - 3cos0)
the valuc of (7sin0+3cos0)"

__)2./rmwmﬁaﬁlm##rfaga’iuz.-smmm—z9)ﬁmt| 2

Find a point on x-axis which is equidistant from the points A (2, -5) and
B(-2,9).

13 xmyﬁ@mmﬁuﬁﬁmx.yp (7.1)890(3,5) V™ &l 2

\

Establish a relation between x and Y if the point { x, y ) is equidistant from
(7.1 ] and (3,5).

/qmﬁwqoao 23irammaoao 1449 klﬂ?{@m 161 i: @ gadt

W& T HT 2
“The HCF of two numbers is 23 and thicir LCM is 1449, ll' one number is 161
then find the other number.
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15 A s o U ARUR ax? 4 b+ c U B A o2 p? WA WA HG 2
Il w,B are the zeroes of the quadratic polynomial ax? +bx+c, then find the
value of a? + 2,

16. TS & e wifws 1 i o 272 AT 1032 1 HoHo Frewd 2

Using Euclid's division algorithm, find the HCF t;f272 and 1032,

17, I8 I @ 7% 9 Tt e A 14 om €1 2.

Find the surface area of o hemisphere whose diamcter isrl4 cm

18. @ um e e - 2

tan” 60° + 4 sin2 45° + 3sec? 30° + 5cos2 90°
cosec 30°%+ scc 60° - cot? 30°

Evaluate the following :

tan? 60° + 4 sin? 45° + 3sec? 30° + 5¢08290°
cosec 30°+ sec 60° - cot? 30°

19. W A 2x+5y=13ﬂT2x+3y-3iﬁﬂ‘3WﬁﬁI?}ﬁﬁ-l 2

Solve thc system of cquations 2x+5y=1 and 2x+3y=3 by cross-

multiplication method.

20. 0-16 # g%mﬁzﬁ:ﬁn
Convert O 16 in the form of -5—

21, U SEgEE WE A S 24 om 3R SR B F 7 cm €, 7 IS A H
AT e | | : | 2
Caleulate the volume of a right circular cone whose hcig_ht is 24 cm and radius

of the basc is 7 cm.
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22.

23‘ ’

}.’

26.

| , gt & &
A ABC R A Ap M oAc W R e p sk g owe: T

. -1 )ecm @
DE||BC, ufRAD « (4x-3)cm, AE» (8x-7)cm, BD = ( dx

2
CE=(Sx-3)cm, @ x #1 ur3 Py

" such that
In AABC ., D and E are two points on the sides Al and AC respectively o
~.1)cm
DE||BC.\/f AD = (4x - 3 ) cm, AE = ( 8x - 7 ) em, BD = (3% )

CE = (5x-3) cm, then find the value of x.

2
fag &% f& M-tmw‘lmnﬂ.
cotA+cot BB

Prove that WnA+tanB =tanAtanB.
cotA+cot BB

TH aABC & AW T A-3,0). B(S,-2) @ c(-8,5) ¥1 gu oy 1 7T

T & 2

The vertices of a AABC are A(-3,0), B(5.,-2) and C(-8,5)- Find the

centroid of the tniangle.

Frfefea @27 1 wges 70 &t 2
Find the mode of the following distribution :
F =TT 0-20 | 20-40 | 40-60 | 60-80 | 80-100° | 160-120
Class-interval .
AR 30 36 52 61 38 33
Frequency
fF=Tetiga de=t &1 o, {1 & 2
Find the mcan of the following distribution :
- AR 0-10 |- 10-20 20-30 30-40 40-50
Class-interval
Mol L 7 8 16 9 10
Frequency :

21 S H ATHA. 1000 § TUT ITH G F IR 256000 & A @ T L1 2
If the sum of two numbers is 1000 and the difference of their squares is
256000. then find the numbers.
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¥ 7rfie U7% | Long Anewer Type Questions
U3 WO 28 % 38 ¥ vwde wra by prd @ Al o ot & awe ) ol o &
frg s siw Braifen 4 426+20

question carmes 5 marks 4520

28 wiETm g uzg.«eam“qy-zﬂm'ﬁ“mmd'. 5

Draw the graph of pair of cquations x ¢ 2y = 3 and 4x 4 Jy=2.

20 TF 60 m S ATE & 2 N HeEanE wwe S @ 2 T F g h&
TN B & ah Jrﬁﬁﬁmhﬂliﬁf‘ﬁ*hma;mmm 30° 3
huw"mﬁaﬁémréamﬁnﬁﬂhqaﬁqﬁnmﬁmt S
Two poles of cqual heights arc standing opposite to cach other on cither side of

the road, which is 60 m wide. From a point between them on the road, the
angles of clevation of the top of the poles arc 30° and 60° respectively. Find the

heights of the poles and the distance of the point from the poles.

0. foz o fr g @ 21 Eiw enianel & Wil @ e S 3@ &
7 @ Fa A & v
Prove that the linc segment joining the points of contact of two parallel tangents

of the circle passcs through the centre of the circle.

3. ﬁquﬂwmﬁmmtmﬁiﬁn@mkwmmm;ﬁ
71, A1 30 Fraa e @ 2 92 &0 R 3R AR 10 km/he dF T S, @ 3R
faya aua @ 3 92 Afus @ | g ER a9 & g0 I A 5

A train travels a distance with cqual speed. I the train had run 10 km/hr
faster, it would have taken 2 hours less than the scheduled time and if it had
run 10 km/hr slower, it would have taken 3 hours more than the scheduled

time. Find the distance travelled by the train,
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32

33

g vt 45 _tanA . _COtLA
(1-cotA) (I-1anA)

=(l+tanA ¢ cot A). 5

Prove that —‘ANA_ | cotA
{1 - cot A) (1 -tan A)

=(l+tanA « cot A).

ﬁwmhpﬁﬁmnmhomwmﬁﬂﬂmﬁtﬂ
¥ ¥ 60" K, A Op W Hrt ym Y, $
if the angle between two tangents drawn on a circle with radius @ and centre

O from an exterior point Pis 60°, find the length of OP.

f:-w.-.tma&Wzﬁéﬁzommmtmmﬁmﬂé’;”“m*

FEA b T v S 4 @ e g & O I S 5
Nisha

@ can swim downstream 20 km in 2 hours and upstream 4 km in 2 hours.
Find her speed of swimming.in still water and the speed of the current.

35m%quﬁ:ﬁmmqﬂqf@g}mﬁmﬁa’ﬁw:ﬁmﬁmﬁn

5

Draw a circle of radius 35 cm. Draw two tangents to the circle which are
perpendicular to each other.
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